GRADE 11
Listening comprehension

Operation Migration


If you look up at the sky in the early autumn in the northern part of North America, you may see groups of birds. These birds are flying south to places where they can find food and warmth for the winter. They are migrating. The young birds usually learn to migrate from their parents. They follow their parents south. In one unusual case, however, the young birds are following something very different. These birds are young wooping cranes, and they are following an airplane!



The wooping crane is the largest bird that is native to North America. These birds almost disappeared in the 1800s. By 1941, there were only about 20 cranes alive. In the 1970s, people were worried that these creatures were in danger of disappearing completely. As a result, the United States identified wooping cranes as an endangered species that they needed to protect.



Some researches tried to help. They began to breed wooping cranes in special parks to increase the number of birds. This plan was successful. There were a lot of new baby birds. As the birds became older, the researchers wanted to return them to nature. However, there was a problem: these young birds did not know how to migrate. They needed human help.


In 2001, some people had a creative idea. They formed an organization called Operation Migration. This group decided to use very light airplanes, instead of birds, to lead the young wooping cranes on their first trip south. They painted each airplane to look like a wooping crane. Even the pilots wore special clothing to make them look like cranes. The cranes began to trust the airplanes, and the plan worked.



Today, planes still lead birds across approximately 1, 930 kilometres, from the United States – Canadian border to the Gulf of Mexico. They leave the birds at different sites. If a trip is successful, the birds can travel on their own in the future. Then, when these birds become parents, they will teach their young to migrate. The people of Operation Migration think this is the only way to maintain the wooping crane population.



Operation Migration works with several other organizations and government institutes. Together, they assist hundreds of cranes each year. However, some experts predict that soon, this won’t be necessary. Thanks to Operation Migration and its partners, the crane population will continue to migrate. Hopefully, they won’t need human help anymore. 

GRADE 11
Listening comprehension test
1. Put down + if the statement is true, - if it is false (2 points each).

1) Young birds usually learn to migrate from their parents.

2) Wooping cranes almost vanished in the 1800s.
3) In the 1970s, people worried that there were too many wooping cranes.

4) Wooping cranes needed to be protected because they were given a conservation status.

5) Thanks to the researchers, wooping cranes were successfully bred in special gardens.

6) People had to teach the wooping cranes how to migrate.
7) Operation Migration uses light trucks to transport the wooping cranes.

8) Today, only with the help of light airplanes we are able to maintain the wooping crane population.

9) Migration specialists predict that soon wooping cranes will not need human help to migrate.

2. Choose the correct letter (a, b or c) – (2 points each)


10) Wooping cranes migrate in the winter to find ………….


a) baby wooping cranes


b) warmth and food


c) human help


11)Wooping cranes are native to ….


a) Mexico


b) South America


c) North America


12) What does Operation Migration do?


a) They teach adult cranes how to fly.


b) They lead young cranes on their first trip south.


c) They breed cranes in special parks.


13) Approximately how many kilometers is the wooping crane’s trip from north to south?


a) 1, 930 kilometres


b) 1, 913 kilometres


c) 1, 900 kilometres


14) If Operation Migration is successful, what will happen?

a) Wooping cranes will follow airplanes south every year.


b) Wooping cranes will learn to migrate on their own.


c) Wooping cranes will learn to live in Canada all year.

3. Write short answers to the following questions (3 points each)

15) How many whooping cranes were there in 1941? ______________________________________________
16) Why couldn’t researchers return the young birds to nature? ______________________________________________

17) Why do the cranes trust the airplanes and the pilots? _______________________________________________

18) Why do some people predict that Operation Migration will stop soon?
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Reading Comprehension, test 1
Miracle on the Hudson


Things were looking bad for Flight 1549 out of New York’s LaGuardia Airport one cold winter day in 2009. At 3:24 p.m., just minutes after takeoff, the Airbus 320 flew straight into a flock of large birds. There were several loud noises. Then both of the engines died. In the cockpit, Captain Chesley B. Sullenberger noticed a sharp smell of burning feathers. The plane was only 914 metres in the air, and it had no power. They were going down.


Behind Sullenberger in the cabin, 150 passengers knew they were in trouble. Many desperately turned on their mobile phones to say good-bye to loved ones. Some on the plane cried, and others prayed, but Captain Sullenberger did not panic. The lives of the 150 passengers and five crew members were in his hands. His ability to stay calm in the face of disaster was the only thing that could save them.


Sullenberger had 40 years of flying experience. Like many pilots, he had experience in the military, where he flew a fighter jet. Sullenberger was also a safety consultant for airlines, so he knew a great deal about how to handle a crisis. He knew how to fly gliders, too. This was a helpful skill because the jet was now behaving like a very heavy glider.


At first he thought he could turn the plane around for an emergency landing. However, the jet was right over the city. It was near too many tall buildings and “too low, too slow” to reach the airport. Then he thought he could probably fly across the Hudson River and land at a nearby airport in New Jersey. That wasn’t a good idea, however. He might crash into a neighbourhood full of people.


Sullenberger decided he had only one option. He would have to bring the plane down in the icy Hudson River. It was going to be a very difficult landing. A water landing is extremely unusual for a plane, especially a water landing with no casualties. He would need to keep the nose of the plane up and control the wings perfectly. If one wing went into the water, the plane would turn over and over.


Experts say that self-confidence is crucial when you have to act in a difficult situation. Captain Sullenberger was anxious, but he was confident. He believed he could land this plane. He didn’t panic and brought the plane lower and lower. “Brace for impact,” he said over the intercom. At 3:31 p.m., the plane touched down the water. There was a huge spray of water, the plane stopped, and it floated.


Sullenberger got up from his seat in the cockpit. He reached for the passenger list. As the passengers climbed out of the plane onto the wings, he checked off their names. Was everybody safe?


Outside the plane, it was only -6.7° C, but the plane had landed in a busy part of the Hudson River. Ferries, rescue boats and helicopters came close to the plane and started rescuing passengers. Captain Sullenberger was back inside. One last time, he walked through the plane to make sure everyone was off. In the end, all 155 people on board Flight 1549 survived. People called it a miracle. The miracle was that they had the right captain at the right time.

1. Are the sentences true or false? (1 point each) 
1) Flight 1549 was flying in an area with few people or houses.

2) Captain Sullenberger landed the airplane on a river.

3) Everyone survived the landing.

2. Choose the correct letter (a, b or c) - (1 point each)
4) What caused Flight 1549’s problem?

a) an engine fire

b) a flock of birds

c) low fuel

5) How many passengers and crew were on board?

a) 40

b) 150

c) 155

6) While the plane was going down, it _____________ .

a) was on fire

b) acted like a glider

c) lost a wing

7) Why couldn’t Captain Sullenberger turn the plane around?

a) He did not have enough fuel to go back to the airport.

b) The airport was too crowded with other planed waiting to land.

c) His plane was too close to the ground and didn’t have enough speed.

8) Which statement is not true about Captain Sullenberger?

a) He was sure about his ability to land the plane.

b) He was calm in the face of disaster.

c) He could not decide what to do.

9) How much time passed between hitting the birds and landing the plane?

a) 7 minutes

b) 24 minutes

c) 31 minutes

10) What did Sullenberger do after the plane was on the water?

a) He radioed for help.

b) He used the intercom to tell the passengers to get out of the plane.

c) He used his passenger list to check that everyone was safely outside.

11) What happened to the passengers after they left the plane?

a) They swam across the river to safety.

b) Emergency aircraft and boats rescued them.

c) They used the life rafts on the plane to get to land.

Reading comprehension, test 2
How the Kiwi Got Its Name


It is one of the ugliest little fruits in the world. Many people don’t know how to eat it and have never tried it. This fruit, however, is a multi-billion-dollar super food, a food that is very nutritious.


This fruit’s skin is brown and looks like the fur of a monkey. This explains one of the fruit’s original names, which means “monkey peach” in Chinese. The Chinese first grew it in the Chang Kiang Valley about 700 years ago. It became a favourite food of the rulers. They liked the bright green colour on the inside of the fruit and its sweet taste.


When people from other parts of the world began travelling in China, they discovered this unusual-looking fruit. In 1904, a woman from New Zealand, Isabel Fraser, travelled to China. There, she ate a monkey peach. She liked its taste, so she took some seeds back with her to New Zealand. She gave the seeds to Thomas Allison. Thomas and his brother, Alexander, owned an orchard. Alexander Allison planted Fraser’s seeds and harvested the first fruit in 1910.


The climate of New Zealand was perfect for the monkey peach, and soon the fruit became popular there. However, New Zealanders had trouble pronouncing the name in Chinese. They decided to call it a “Chinese gooseberry” because the fruit is green, like a gooseberry.


By the 1950s, New Zealand had more Chinese gooseberries than they could eat. Fruit growers wanted to expand their markets to other countries. However, they had a problem because some countries had an import tax on berries. To avoid the tax, the growers decided to change the mane. The fruit looked like a tiny melon, so they decided to call it mellonette (the French word for “little melon”). This name seemed like a good idea until they learned that there was a high tax on melons. What could they call it?


The fruit growers got together to discuss a new name. Someone suggested the name kiwi. The furry kiwi bird is a symbol of New Zealand, and New Zealanders are sometimes called Kiwis. The growers all agreed, and this small green Chinese fruit took the name of a symbol of New Zealand.


When the kiwi fruit first appeared in other countries, most people thought it was strange. They didn’t know how to eat it, and they didn’t like the rough skin. Eventually, people learned to remove the furry skin and eat the sweet inside part. They started to enjoy it.


Recently, food scientists have discovered some surprising information about the kiwi. One small kiwi fruit has more vitamin C than any other fruit. It is also a great source of fibre and provides the body with important minerals, such as calcium and potassium.


Today the kiwi is more popular than ever. It is a major crop in many countries, including Chile and Italy. In New Zealand, it is the number one export. Farmers there even export this healthy and delicious food to China, where it all began. 

Are the sentences true or false? (1 point each)
1) The kiwi fruit was from New Zealand originally.

2) The skin of the kiwi isn’t like the skin of other fruit.

3) Isabel Fraser planted the first kiwi seeds in New Zealand.

4) Growers changed the name of the fruit to “Chinese gooseberry” because of import taxes in other countries.

5) A “kiwi” may be a person, a bird or a fruit.

6) The kiwi fruit was immediately successful in other countries.

7) The kiwi is nutritious because it has vitamins, minerals and fibre.

Reading comprehension, test 3

Read the text below and choose the correct word (A, B, C or D) for each gap. - (1 point each)
The Discovery of DNA

 The fact that genetic information in animals and plants is carried by something 1)_____ DNA is now regarded as 2)_____ knowledge. Before the 1950s, however, 3)_____ was known about DNA  or how it worked. One of the 4)_____ moments in science occurred in 1953, when Francis Crick and James Watson at Cambridge University discovered the structure of DNA. They said that DNA was 5) ____ to two spiral staircases going up and down at the same time. Scientists all over the world 6)_____ this “double helix” model immediately. The discovery was, of course, the result of years of hard work, and Crick and Watson were not the only scientists who had been 7)_____ out research in an attempt to find out what DNA 8)_____ like. Maurice Wilkins and Rosalind Franklin at King’s College, London, had also been 9)____ on the problem. They used x-ray analysis of DNA, 10) _____ Crick and Watson preferred to build models. One day, without 11)____ a word to her , Wilkins showed Franklin’s results to Watson, and those results helped him to discover the real structure of DNA. In 1962, Wilkins, Crick and Watson were 12)____ the Nobel Prize for their work. Rosalind Franklin, who had died four years earlier, was not even mentioned at the ceremony.

	1
	A   called
	B   known
	C   referred
	D   described   

	2
	A   normal
	B   general
	C   usual
	D   ordinary

	3
	A   few
	B   hardly
	C   tiny
	D   little

	4
	A   greatest
	B   largest
	C   tallest
	D   broadest

	5
	A   same
	B   similar
	C   alike
	D   resembled

	6 
	A   accepted
	B   agreed
	C   admitted
	D   allowed

	7
	A   making
	B   doing
	C   holding
	D   carrying

	8
	A   looked
	B   appeared
	C   existed
	D   compared

	9
	A   thinking
	B   trying
	C   working
	D   seeking

	10
	A   however
	B   whereas
	C   unlike
	D   despite

	11
	A   telling
	B   dropping
	C   giving
	D   saying

	12
	A   presented
	B   awarded
	C   donated
	D   celebrated


Writing Tasks: 11th form

1. The level of medical care today is much higher than it was in the past.  Doctors continue to acquire more knowledge that helps them treat patients effectively. In your opinion, what is the biggest medical advancement that has been made in the last one hundred years? In contrast, what is the biggest medical problem currently facing the world? 
2. You are now in the eleventh form. Soon you will graduate from school. Looking back... What advice would you like to give to younger pupils about school life? What would you like to see changed about your school or the system of education in Ukraine? What are your goals to improve yourself in your future life at university or in your career?

